7.1 Homework Solutions 7, 19, 23, 25, 31, 35, 39, 45, 50, 51, 53, 57, 67, 71
7.  The expression .06(10 – x)(100) is equivalent to ….B
.06(10 – x)(100) = (100)(.06)(10 – x) = 6(10 – x) = 60 – 6x

19.  Solve:

3(2w + 1) – 2(w – 2) = 5 

6w + 3 – 2w + 4 = 5

4w + 7 = 5

4w = -2

w = -1/2

23.  Solve:

6p – 4(3 – 2p) = 5(p – 4) – 10

6p – 12 + 8p = 5p – 20 – 10

14p – 12 = 5p – 30

9p = -18

p = -2

25.  Solve:

-[2z – (5z + 2)] = 2 + (2z + 7)

-[2z – 5z - 2] = 9 + 2z

-[-3z – 2] = 9 + 2z

3z + 2 = 9 + 2z

z = 7

31.  Solve:

-(9 – 3a) – (4 + 2a) – 4 = -(2 – 5a) – a

-9 + 3a – 4 – 2a – 4 = -2 + 5a –a 

-17 + a = -2 + 4a

-15 = 3a

-5 = a

35. Given

Method 1: Multiply by 6
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Multiply by 12
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39.  Solve:
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45.  Solve:

.08x  +  .12(260 – x) = .48x  ( multiply both sides by 100

8x + 12(260 – x) = 48x

8x + 3120 + 12x = 48x

20x + 3120 = 48x

3120 = 28x

3120/28 = x

780/7 = x

50.  A conditional linear equation has exactly one solution.  An identity has an infinite number of solutions.  A contradiction is an equation that has no solution.

51.  – 2p + 5p – 9 = 3(p – 4) – 5


3p – 9 = 3p -12 – 5


3p – 9 = 3p -17 

This equation is a contradiction and has no solution.

53.  Solve:

6x + 2(x – 2) = 9x + 4

6x + 2x – 4 = 9x + 4

8x – 4 = 9x + 4

-8 = x

This is a conditional equation.

57. Solve:

7[2-(3 + 4r)] – 2r = -9 + 2(1 – 15r)  

7[2 – 3 – 4r] – 2r = -9 + 2 – 30r

7[-1 – 4r] – 2r = -7 – 30 r

-7 – 28r – 2r = - 7 – 30r

-7 – 30 r = -7 – 30r

This equation is an identity and has an infinite number of solutions.

67.  Solve for h

A = ½ bh

2A = 2(½ bh)

2A = bh   (divide by b)
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71.  Solve for F
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